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: Before answering the questions, read the instructions carefully given on the OMR sheet.

ArSd (D)o e [Erodd o OMR awran HEins” avgudd ardbden arddn $d5od.

_ SECTION - I (MATHEMATICS)
¥ A={P,0,L,Y,T,E,C,H,N,I} and B={E, X, 4, M} then AnB=
A={P,0,L,Y,TE,C,H,N I} wooto B={E, X, 4, M} wowd ArvB=

M {P} @ {£} @ {x} @y
The law pv p=p is known as , -

(1) Nilpotent (2) Idempotent (3) Commutagive (4) None
PV PE ped gobhiod — eothdh. )

(1) sos08 (2) 56508 (3) + ooz L (4) 58w
If f:4— B is a real function, then \ .

(1) AcB ' (2) Bc4

(3) AcR and BcR \ (4 AcR or BcR
f:A—> B &8 =% t.’fé:oﬁén(«m.omi‘

(1) AcB § (2) Bc4

(3) AcR ®Baty BCR (4) AcCR ®>®BcR

1f /()= (7 =1)(145° + 2952 <195 +37)=ag + ax 42’ + . +gox™ then, the value of
Gy¥eytay + .. tagy =

a0+al+a2+...+a80= ' . ‘
(D 1 . 2 -1 (3) 0 . (@ 80

If 5% —4ac>0 then the roots of ax’+bx+c=0 are

(1) Real , (2) Equal (3) Not real (4) None

b? —4ac>0 wovss ax? +hx+c=0 S wrosen

(1) % Sopgen (2) Sdoedi (3) =% domgen TP (4) Wb b
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e
6 If one root of xz—px+8=0 1s 4, then p=
X —px48=0 % 4 of drodin eovsd p=
(1) 4 2y 6 (3) 4 4 6
7  Which of the follomﬂg figures is a convex set ?
(B0 o838* 2 Hho Hoarsd Hrdod DrDDO?

P_,r
s Lt £ -
x3p X—p
(1) P! @ p 3 p*f (4) None (26 se%)
-
9 2009+ 2009 + J2005 + .. o=
1+ /8058 1+/8035 1++/8036 1448037
I D B e

' -
10 If 1947, 1957, 1967, 1977, . . . is an AP with common difference 10, then its 111 term is
1947, 1957, 1967, 1977, . . . e eod (B8 wow, Soxo&in 10 wonds v RS Swsy 115 Hedn
1) 1047 2) 2047 (3173047 (4) 1147

11 If the AM, HM of two numbers are 25 and 36 respectively, then their GM is
Both Hogge egg AM = 25, HM = 36 awowss, ¢ GM =
(1) 32 (2) 48 (3) 30 (4) 16

12 The number of tangents thai-can be drawn to two circles if they touch internally is

Both Herew, ©os880m 00088 & ared Ay b éadﬁq)e) dopg
11 @2 2 (3) 3 4) 4

1

13 Ois thc;\wgnt‘r'e -of circle and AB, CD are two perpendicular diameters of the circle, then
the length AC is

0 o2 o8 8w Bws) Bod Doy, AB, CD e Bod oow wgrds, AC=

' ‘ : AB
(1) 3 AB , (2) AB (3) 2 AB G T/—‘é‘
14 The point of concurrence of the medians of a triangle is
(1) Incentre (2) Orthocentre (3) Centroid (4) Circumcentre
e (Bgheind® Dghren PoBoEd Bodipd __ eodm,
(1) woss H)8 Soldiw (2) eow Bodn (3) Bo8 erddw (4) Dowy8 oo
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15 From the adjacént figure, x= (983 ISt x =
(1 9 (2) 4 (3) 6 4) 3
16 In the adjaceni figure PS bisects £ QPR and QS : RS =2004:2008 then RP:PQ =
B8y Dssws® L QPR & PS Shbgmoss S OF | RS = 2004 : 2008 eons RP . PQ =
| P
Q S R
(1) 502 : 501 (2) 501 : 502 (3) 500 : 501 (4) 560 502
17 In a right angled triangle ABC, AD is perpendicular to the hypotenum, BC then AD? =
&8 vt [Bebwuin ABC & 4D, ggaw BC 8 eowiurmr o8/ x" >
(1) AB.BD 2) AD.DC™ (3) AB.AC (4) BD.DC
18 The opposite a.ng]es of a cyclic quadrilateral are
(1) 90e (2) Supplementary (3\’ "‘omplementaxy (4) None
S8 S ys edhng B aren _
(1) 90 L (@ sopessges (3) Spessnen (4) 96 s
19 A line passes through the points { 1947, 1957), (1869, 1879), (1857, 1867). Its equation is
s (1947, 1957), (1869, 1879), (1857, 1867) Bochipe hoar o, crd @y, wnsdmin
(1) y=x+1947 (2) x=y+1957 (3) y=x+10 @) x=y+10
1 1 X Y _ 4
20 If ;'*; =1 then the line "p“" E = 4 passes through
1 +1 \ x Y 2
—H5 ., —t== Dotk .
P g @ond, p p oo B 9 rboae SHD
, : 11
M 1) @ (1,2) G 21 @ 133
21  Equation of a line passing through the point (2007, 2008) and parallel to x-axis is
X—wginsd ssrossiom @08, (2007, 2008) Dokl thome & w¢Be Bhgsein
(1) »y=2007 (2) y=2008 (3) x=2007 (4) x=2008
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22 If 3@ +2b*+c=0 then the line a’x+ b2y+c =0 passes through

3+ 202 +0=0 wovd ax+bly+c=0 edBp Dokl thom .

2 3 a2 3 a2
W (a8 @ (3, 27) @) (24, 3%) ) (3,2)
23  Area of the triangle formed by the line xcoso+ ysina=p with the co-ordinate axes is

X, y egew,  XCOSO+ ysind=p eb & 633 Brbey Brogin

p’ | pr 7’ P’

D Sin o . @ osa ®) §in o cos o @ Zsin Q. COS
24 Point of intersection of the lines 2007x + 2008y = 4015 and x+y=2 is

2007x + 2008y = 4015, x+y=2 Bpeo poBoHEd Dotvd

(1). (1, 2007) @ (2008,1) - (3 (1L1) 4) (2007, 2008)
25 The number of points on x—axis which are at a distance of 5 metres from origin is "

2o Doty od drddin 5 Dok M dod r—eFind Dok DokHe Doy

(D 1 (2 2 (3) 3 4 o
26 Slope of the line x=7y+9 is x=Ty+9 o oy weo
A 1
(1) 7 @ -7 ® - @ =

27 Centroid of the triangle formed by the co-ordinate axes and the line x+ y=6 is
X, y ugen, Xx+y=0 b o8 6k (Behesio @) '§o@ ENESIN

(1) (3,3) 2) (2,2) 3 AL 4 (0,0)
28 The line x=my+c cuts y-axis at =3 '
X=my+c eb w¢ Sp y-ognd podos Do

¢ ’c\\j‘ m m
I I S R A

29 Equation of the line, passing through the points (0, 0), (@ cos &, b sin ) is
(0, 0), (@ cos £,F sin 00) Botve oa g w6¢ B Hrsoin
1) ay= (btan a)x : (2) by=(atan a)x
(3) By¥(a tan a)x=0 | @) ay+(b tan a)x=0

307 If (1,5) is mid point of liné joining (=5,3), (7, K) then g =

0 (5,3), (7, K) on gwip Sar pod Sy éao&@ (1,5) wans, K=

(1) -7 (2) 7 (3) 5 4) -1
1 2 .2
~¢08°6 —sin“B =
3 \/cosz(-)
(1) sin® (Z) cos® (3) tan9 (4) cot®
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32 sin 201° $in202° sin203°. ...  sin360°=
NE: 2
w3 ® 3

33  sin38° +sin?52°=

NE) 1
(1 - @ 3

34 tan(45°+6)-cot(45°-0)=
(1) 2tan© (2) 2cot®
§in120° + sin240°
(1) o (2) 1

T ' 2 2p_

36 If A+B=-£, then cos“A+cos”B =
A+B=-21£ wond cos® A+cos’ B =
M1 (2) 2
' b

37 cotB=-—, sin 9=

a
b
(D Py 2). Y
If x+2=3cos 9, y—1=4sin 0, then
(1) 16(x+2)*+9(y-1)° =25,
3) 9(x+2) +16(y-1)! =144
AT

39 If -\3}x+ =2c,os_(3/‘, %”-})J+1=3Sine then

) x+B+ip+1yY =13
3 ‘
2

X f(/‘x\a'rl)é N (y+1)% -1

@ 3 9

40 -J-c-=acosé- L=bsecod =

P g '
) pg=ab @) xy=ab
tan 2_3'° sec 23°+1
41 sec 23°+1 tan 23°
(1) 2c0s23° (2) 2sin23°
CEEP-2009_A] - 5

@) 0 4 1
: 1
® 5 @ 1
(3) 1 @ 0
(3 -1 4 2
3) 0 @ =
() , A %2
SR
R el T
("3,.’\ “\‘[a’l_i_bz (4) ’a2+b2

x+2=3c0os0, y-1=45sin 6 eavd
2) 16(x+2)* +9(y-1)* =144
@ 16(x-2) +9(y+1)’ =144
Yr+1=2cos 0, Yy+1=3sin0 wa
(2) (x+l)%+(y+1)y =13
Jeas L R L3

4 9

(4)

(3) xy=ab pq (4) None (Db o)

(3) 2sec23° (4) 2 cosec 23°
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cot11° *  cosec11°+1
42 cosec 11°+1 cot 11°
(1) 2cosll® (2) 2sinll° (3) 2sec1?° (4) 2 cosec 11°
43 Sinf=— 2;$tan6=
T+x® ‘ ‘
y = @ — 3) — 4
W 172 ) ) 12 T @ 2
44 sec® - tan®0 — 3 sec? B tan’0 = e
(1) 1 (2) -1 , (3) 0 4) 2
45 0 A+B=1 then 204, 4 A4+B=T goye R4, cOt4
cot B tan B 2 cot B tan B
M 1 @ 2 3) 0 @
cot 25° “tan 43°
46 + =
tan 65° cot 47°
)
omr @2 e @ 5
47 Find the mean of the following frequency distribution ;
& (Bod adgudd Tiud)Yg Jradin ) Hikw Jewd 1.
Class interval mid values | 5 | 10 | 1620 [25 | 30 | 35 | 40
S658 o865 WSy Dewden A '
Frequency [ RSO S T 1| 1 1
a‘é‘@ésm hY ‘\ \‘é\‘) A )
(1) 90 | (@) 225 (3) 180 (4) 360

48 For the data 99, 100, 161, 12, 103, 104, 105, 106, 107 the value of the mode is
99, 100, 101, 102, 103,104, 105, 106, 107 Serodinits wrineiin densd
(1) 10325 : ' (2) 102.99 |
(3) 1043 ‘ ' (4) does not exist (B)
49 The nitdian of the marks scored by 100 students in a 25 marks unit test is
25 Smipe otrdS 5B856° 100 ©od8 HDYS Srde wde anguddD. T DEgHE dend =

Marks (impe0) - 0-5 510 | 10-15 | 1520 | 20-25
No. of students (dergdoe somg) [ 10 18 42 23 7
(1) 12 - (2). 126 (3) 123 4) 12.7

50 For what value of '@ will 7.5 be the median of 4, 6, a, 9, 10, 19
4, 6, a, 9, 10, 19 of wgssn 7.5 sess) 'a devd
m 6 2) 10 3y 7 4) 8
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51 The AM of 10 numbers is 20, AM of 30 numbers is 60, AM of combined data is

10 vopge AM 20, 30 domge AM 60 wons, &b dgrodinidh AM Jod?

(1) 50 (2) 40 3) 30 (4) 20
52 The formula to find Arithmetic mean ¥ using the deviation method is

So8s dses 548 (deviation method) crgor Wity SOPLLG amEin X =

1(& 1(& . ]
A -_— ; oy i Y C
(1) +N[Zf' u,} (2) N[zl:fu X

'(3) At+— [Zf, u,JxC | (4) None (98 s)

53 For any two numbers, if AM = A, GM = G, HM = H, then

Bodh omge  AM = A, GM = G, HM = H eoxd

(1) A% = GH (2) G* = 4H (3) H? = 4G (4) None (& s=ch)
54 If the mean = 2p+q, median = p+2¢g, then mode =

wof Mgigldn = 2p+ g, Heghin = pFlg eowd wrdorshn =

(1) 4p-q 2) 4q9-p (3) 4p+q (4) 4q9+tp
- 5§ The number of elements in 4, , matrix is Ay B8 Breugine Sopg
(1) 4 2) 6 . (3) 5 @3
3000 3500| .~ 992 1491
56 A= ,B= = A~-B=
4000 4500 1990 248S

2006 2007 2007 2008 [2008" 3009
() 2008 2009 @ |2000 2010] @) 2010 2011] ) Nome (96 &ct)

3 -1
A= A
o 43 1=

5 7 [5. =7 3 -7 3 7
(l) -2 3 (2} !-2 3 : (3) -2 5 (4) 2 5
3 9l
58 A:{p q-l,B:‘-- - 4=BT =
r s| '8 6 : ‘
(1) p=3,6=9r=6s5=8 (2) p=3,9=9,r=85=6 "
(3) p=8,g=6r=3,5=9 4) p=3,9=8r=9 s5=6
59 The method of solving a probiem is called
(1) Program (2) Flow chart ~  (3) Computer (4) None
::m::s Fo0d D@m&l —. DD, )
(1) sogEo (2) 185 Mo (3) Soxrgeb . (4) 98 s
60 All parts of computer are controlled by
(1) Input (2) Output (3) CPr.U. -~ (4) Memory
Bogrgtbs’d o) eroven 88 davo@od wderon.
(1) 28508 (2) &5 (3) CrU. (4) e derriin
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SECTION - II (PHYSICS)

61 The correct.reading of a vermier calipers 1s given by
30000 5 Ox0YE* O Feodd wrdo
(1) M.S.R. + (V.C. x L.C.) (2) M.S.R. — (V.C. x L.C)
(3) MS.R. + (V.C. + L.C) (4) M.S.R. + (V.C. - L.C)
62 The relation between 'g' and 'G' is
g Doat 'G' o wg Ko Howoo
_GM G _GM?* _GM
) =73 @ 8/—_- R (3 &= Y @) &=
63 If a body is projected vertically upwards from the ground with a velocity of 9.8 m/sec,
then the maximum height reached by the body is
28 H0PD 9.8 /. Wof WP P8 XS o HH Dodo A6H by Jod?
(1) 49 m (2) 9.8 m- (3) 19.6 m (4) 392 m
64 A car covers the first Half of the distance between two places at a speed of 40 kmph and
the second half at 60 kmph. The average speed of the car is
&8 56 Dot gotwe ey do &o &rdo 40 B.hy/ro. HoBkar, 1NDS o drovdl) 60 8.5/,
WoBhr éod. vand © =B oo o 5
(1) 100 kmph (2) 50 kmph (3) 48 kmph (4) 25 kmph
65 The velocity of a body moving with a uniform acceleration of 2 nu'sec2 is 10 m/sec, Its
velocity after an interval of 4 sec. is
(1) 12 m/sec (2) 14 m/sec (3) 16 rmilsec (4) 18 mfsec
2 D/t dindgdmol Fed) e Kby Ho 10 D/ wowd 4 P o wse® o Y o
M 12 b (2) 14 b/, (3) 16 &/ (4) 18 b/,
66 The velocity of a stone on reaching the ground when it is dropped from a height of 19.6 m is
(1) 4.9 m/sec (2) 9.8 m/sr.; (3) 19.6 misec (4) 39.2 m/sec
19.6 D b %08 2rsdEDD oran AW Dbsdpds EHH dod o
(1) 4.9 ./ (2) 9.8 ./ (3) 19.6 d./>. (4) 392 ./
67 The angular velocity of \ﬂ*e minutes hand of a watch is
1 — radi'zms/‘:‘sec‘ (2) —- radians/sec  (3) é% radians/sec (4) " 81:) 0 radians/sec
a8 SHURGOSTD Do dwen Ginéa_ gdan o
T T
(1) 30 a&aﬁmﬁ (2) — Bdav/a  (3) 18—0 Bhatd/ . . (4) 1800 i/
68 A train moves in a curved path of radius 98 m with a velocity of 4.9 m/sec. The banking
angle to avoid accident is
w8 Ben 98 . gdo o Doy wrdost 4.9 Db/ Wio8 FHDB)Hpd [Hrdo abiHos dod
P drgo aren Eewo
(1) tan”' = @) tan"l G) tan” (4) tan™' —
40 180 20 10
CEEP-2009_A] , 8 [Contd...
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77  The process in which a number of electrons {N,) in a higher energy state is greater than
the number (N} in the ground state iz cafled
(1) Populatior proportion (%) Population inversion
(3) Spontaneous emission {4} thmmatec emission
D8 P Pons’d Jogee topg (Vy) argrond®d dogmBe toag (N ) somy g um 68) 80
(1) esmrer wddto (2) 2wy 0o
(3) *guyod agrdo , (4) 4828 agrdo
78 Corpuscular theory could not explain the phenomencn of
(1) Reflection (2) Refraction
(3) Rectilinear propogation of hght {4) luterference
5008 S Rgrodin & (Bod MBS BH6cEBE Fawod,
(1) oSG0 (27 HBIs50
(3) so8 WSy Kso {4) Hg88mo
79 The force between two magnetic poles is 27 N. If the distance between them is tripled,
the force is
Todh eoharyo8 Gyvre gy do wwo 27 N, =8 e drdo Surdy Béy @cm:éﬁs Do =
(1) 9N ) 27 N ©(3) 81 N (4)
80 Among the following, choose the non-magnetic substance
(1) Cobalt (2) Tromn {3} Nickel (4) Brass
(Bod TS® WXy od Hergo 52 \ ‘
(1) 8w (2) =i (3) Sk (4) =sd
81 For diamagnetic substances,
{1) susceptibility is small and positive {2) “susceptibility is small and negative
(3) susceptibility is large and positive - " (4) susceptibility is large and negative
doxr — @ohdrgod derlined \ _
(1) sxgppou ééna_émxn Doaty G s (2) SO Sty By DO Gy Ein
(3) ¥RDOS A ETH HdaLy ey i (4) S2ODS oy By Dby Gesee) S0
82 The magnetic mduc'ior ol the ‘equitorial line of a short bar magnet at a distance of
20 cm is 25 Tesla. T} magnetic induction on the axial line of the same magnet at a distance
of 10 cm is ' '
(1) 400 Tesla {2) 100 Tesia (3) 200 Tesla (4) 50 Tesla
wf dcwdi)\ifva_oé& wesg eﬁoaféq:';&_a 20 0.0 drdost o8 (e 25 & oo o
w08y efaited 10 Do.de Brdos® wavirgod (e
(1) 400 & (2) 100 & (3) 200 & (4) 50 B
83  The relation between absolute permeability (H) and the relative permeability (ii,) of a
medium is given by
b ofrdsod® b IdgHadD woa LY g Buss do Sowodiu
H H 7} ’
D op=w, i 2) H=== 3) === 4y u=|-—*t
(1 p=p. 4, @) I, 3) " (4) "
CEEP-2009_A] 10 [Contd...
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69 A car is travelling at 36 kmph. Tt has wheels of 1 m diameter. The angular velocity of
the tyres in radians/sec is
o8 v Wo 36 BD/Mo. o W|sive argio 1 . wavd Sgwe SEdan Mo Do/ IEdhedt
(1) 2 : (2) 20 (3) 4 (4) 40
' ,
70 If a body moves with a constant speed in a circle
(1) No work is done on it , (2) No force acts on it
(3) No acceleration is produced (4) Its velocity remians constant
ol KoY SHErsd Srgod® BBt Brodv)
(1) o0 Do D N abrd (2) =2 D& 9 woo I Bavew
(3) od&® #gbmo mdou (4) o2 o Aorr Goknod,
71  The relation between frequency 'n, wavelength 'A' and velocity of propogation V' of a
wave is :
PRepdgo ', ddoi Qg‘go A Dday 8o Tﬁwfo Voo g de dowoto
(1) v=nd @ v=%, 3) v="4 4) v=2nh
72 Sound travels in air as : ‘
(1) Longitudinal wave (2) Transverse wave
(3) Either longitudinal or transverse (4) Electromagnetic wave.
MOS8 g (Hosredod dorido
(1) &% Bgs sdoriim : (2) 8658 édoritns
(3) o® BYs B8 BOgE Bcoriw 4 Déﬁg(ﬁ\\kgiif)#&oé S50¢50
73  The densities of hydrogen and oxygen are in r.he ratio of 1: 16. The velocities of sound
in them are in the ratio of
aded Dok ufye Fosse B 106 »86* $gd Stve 2B
(1) 1:16 (2) 16 : 1 3)1:4 - 4) 4:1
74 The presence of infra red- rdys can be detected by
(1) Thermopiles (2) Prisms
(3) Photographic; plate ~ (4) Quartz crystals
Bochm 0B SRS BendEhDH A s dinby _
(1) ¢5igiasy (2) Byssoen (3) FE S sosen (4) wg8 GyBsiwen
75 X-tays have wavelength in the range of X-80600 doriBggine @k
(1) 0.01 A® to 100 A° (2) 1000 A° to 10000 A°
(3) 0.0001 A° to 0.001 A° 4 lemtolm
76 1 lux =
(1) 101 phots (2) 102 phots (3) 1073 phots (4) 104 phots
1 0By = ‘
(1) 1071 péen (2) 1077 r&ex (3) 1073 >Sen (4) 1074 >sw
CEEP-2009_A] | 9 [Contd...
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84 The reciprocal of Resistance is called

(1) Inductance (2) Conductance
(3) Specific resistance (4) Conductivity
Wesn any TErd) Aot '
(1) Bswo (2) &8s (3) 9% o - (4) wdssgn
85 1 kWh is equal to ‘
(1) 103 Joules (2) 36 x 105 Joules (3) 4.18 Joules (4) 36 x 10?2 Joules
1 kWh % séedo
(1) 103 =y (2) 36 x 105 &6y (3) 4.18 &) (4) 36 x 102 &dy
86 The best instrument for accurate measurement of e.m.f. of a cell is
(1) Rheostat (2) Ammeter (3) Potentiometer (4) Voitmeter
o wrged Sy emf. © pdydor PerdhodH &8 Hod HOLGL
(1) oary& (2) wdy&b (3) *BIB> bortr  (4) bew Dok

87 1If N, and N, are the turns of primary and secondary coils; V) and ¥, are the input and
output voltages respectively, then for a step-up transformer

(1) N1<N2 and Vi <V2 (2) N1<N2 and Vi > Vz
(3) N1>N2 aﬂd I/l< VZ (4) N1>N2 and I/I >V2 '.
s o Sk dowg N, Ao Hpeo S opg Ny oot J¢ 88 1), Mo Fda V) i
wands, -wd Lé.vi&a&dgse_ss
(1) N <N, St V<V, (2) N <Ny oot V>V,
@) N>N, woat Vi <P, @), N >N,y woas V>V,
88 According to Faraday's second law of Electroi\ysis
68 NoghgEEe Bodd Janvdo (@Erdo

(1) m1:m21m3:Z]:22:Z3 i (2)‘.m1:m2':m3=-"E1:E2‘:E3
(3) E\:E):Ey=21:2y:7; ~ (4) All the above three relations are valid

(% BERD) drdr $Banid)
89 Neptunium series is known as

(1) 4 n series " (2) (4n+1) seres (3) (4n—1) series (4) (4n+3) series

[rgdario (Blne BOaveIDHO _

(1) 4 n (6B (2) (4n+1) @2 (3) (4n-1) @ (4) (4n+3) @es
90 The function of a compiler in a computer is Boirgtls® ool g |

(1) For storage of information (Rrarord) Jog Vatobds)

(2) For supply of input data (334 cSeromd) wobowhb)

(3) For translation of machine language into high level language
(ool eridd A9)8 Fan RE*I8 SHir Botb) ,

(4) For translation of high level language into machine language
(65)8 Fron ri® abold eie'ds SHEr o)

CEEP-2009_A] i1 [Contd...
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SECTION - III (CHEMISTRY)

~

91 The symbol of the element, with the outer electronic configuration of 4sl, placed in
s-block is
45l Joz9f drgiol wodbih s-orf Drosiy Gng, So8siy |
(1) Na 2) S¢ 3) K (4) Rb
92 If the magnetic quantum number for an orbital m = 3 then the total number of magnetic
orientations shown by the electron is .
©00 08 FPLobD Bopg Jend m = 3 wond wodd 0031)5 Hr o woXryod lgs:u-;ﬁ»m
1y 5 2) 0 &7 - @3
93 If an atom has 5 protons and 7 neutrons in its nucleus, then the number of valence electrons
present in it are :
a8 Srof Sogsod® 5 @8@@ 7 éﬂg@m‘ﬁ) any s = xxs;arm@es‘a oy Jogued Jopg Jdod?
13 @2 @1 @ 5
94 Mention the element of the atomic number, whxch shows least 1orusahrsr1 \ ‘potential
DS wdgey wandssn 8 W Sreso (dme Sopgen wHWAL)
(1 20 @ 1 -(3) 10 4) 30
95  Which of the following pairs of “molecules shown tﬁgie bend ?
188 wogo Sy vmde mob J6? ;
R Ry
(1) Csz, Clz _ (2) Csz, Nz '("J' ’NHs, C2H4 (4) Fz, 02
96 Which of the following moleculeq stiows {one pair of electrons ?
d36* 41D a0t JogreSon Wy e D6?
(1) NH; (2) RCig - (3) HCI _ (4) BeCl,
97 Mention the molecule which shows polar covalent bond
S Sy ¥ SuBradan wodo WY wwP d6?
(1) CHy (2) BeCl, (3) CaCl, (4) HCI
98 ""‘\e\ ionisation energy values of C, N, O are in the following order
C, N 0 o watdste 8 devden & (800 |8os® dotraw, ,
(D) C>N>0 2y C<N<O 3 C<N>0 4 C>N<O
99 The period which contains s, p, d block elements
(1) 2md period (2) 31 period (3) 4t period (4) 1% period
5, p, d g drescend) DOad ) -
(1) 25 Ho0n8 (2) 3% boond (3) 45 boans 4) 15 20a0d
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Compound which oxidises other substances is called as

(1) Oxidising agent (2) Reducing agent

(3) Bleaching agent (4) Oxidising-Reducing agent

Bl Sy¢wd) ubysood @D Jvotrt?

(1) wéysoes (2) Hovsded © (3) domd w0l (4) wdysocd-gans-oel
The atomic radius increases from top to bottom in a group. This is due to

(1) Increase in the atomic weights (2) Decrease in atomic volume

(3) Electrons enter into a new shell (4) No change in atomic number

e (rpS® Dtre agRrgin P Wob BodE WA Tomin

(1) s68mms artibe Db (2) sotre b So8reo Bk

(3) 1B°8 853070808 Jogep [EBoe (4) i Dopges® drth) B8N0

Which of the following is the ore ‘of magnesiurn ?
(1) Beryl (2) Berytes (3) Camallite (4) Haematite
& (8o IS B BAY2ovo Gy ey ?

(1) 286 (2) ©Bsen (3) =588 (4) HHss

Which element gives peroxide ’gﬁong with oxide when burnt ip-exeess of air ?
w08 wByls' woBipd D wrodo uBYES It oBYE RoH?

(1) Ca (2). Mg (3) Ba: (4) Be
Atomic radii of alkaline earth metals is in the fﬂH‘dwing order.

0 )88 e Hoarm wpRrn dosder Ei(§ob Hwod® dotrav.

105

106

107

(1) Be > Mg > Ca (2) Be<Mf§<(,a\(3) Be > Mg < Ca (4) Be < Mg > Ca
If 2.3 grams of Ethyl alcoliol (Mol wt, 46) is dissolved in 9 grams of water
(Mol. wt. 18), find out the moie fraction of Ethyl alcohol in it.

2.3 rdwe 3BS woy S (&%) grdo 46) ® 9 yriwe S (wm 7o 18) E6A0DS, ©osD BB
s FS IS it ’;')6’6? |

(1) 0.009. . - (2) 0.9 (3) 0.09 (4) 0.0009

How many grams of H,SO, (Mol. wt = 98) is present in 0,05 litres of 0.5 M strength?
0.05 bexs HySO, (s g0 = 98) (e a6 0.5 M wans, wothe H,S0, s ado
ed® Jod?

(1) 4.92 (2) 7.35 (3) 2.45 (4) 6.52

Find out the amount of water ‘to be added, in order to convert 100 mi of 0.5 M solution
to 0.1 M |

100 2.5. 0.5 M (ordednd® 0.1 M (ordmiore SrE)#Bss), Jos 0o Sensssd

(1) 500 ml (2) 400 ml (3) 300 ml (4) 100 ml
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At a given temperature, the '[OH-] ion concentration for a basic solution is 1.0x10-1,
What is its pt value ?

28 F6 (500 apods, JabE s %3 [OH] earSe ms deos 1.0X1071! wovs, & (oded
pH Jos? | -

(1) u 2) -1 3) 3 @ -3 _
Find out the pH of the resultant solution, when 4 grams of NaOH is dissolved in water
to make one litre | .

4 prtve NaOH & 386° 6600, o8 DoB (orsmo Soteth 858, o (criey pH Jow?

M1 (2) 7 3) 13 @9 -
What will be the volime of KOH of 0.2 N strength required to neutralise 20 ml of HNOjy

110
of 0.1 N strength ?
20 2.0 HNOj; e (o0 48 0.1 N eand oodd 8380008 dod Hpiasdsragy 0.2 N
s do KOH o508 ,
(1) 200 ml (2) 20 ml (3) 100 ml @ 10.ml
111 Alkenes are more reactive than alkanes, This is'due to |
(1) Double bond = (2) Triple bond :
(3) Single bond ‘ . (4) Valence of. garbon is satisfied
ol ey v 8o 0B JHpd Sorghods DA dotron. AJE BEEy
(1) ogwogrd) $0A doddin - (1/7,}( 'L%Wbl 508 doddbdn
(3) 988 wogrd) 6DA dosbmy @) wa)S ssrmy el
112 Molecular formula of ‘hexene N 7 erByS Ay ardigel évdagm‘
(1) CgHyg (2) CéHys (3) CeHy (@) CeHy
113 Compounds having the same molecular formula but different structural formulae are called as
(1) Allotropes. (2) Isomers '(3) Isotopes (4) Isobars
el om0 et £0A 4oB ao;gwégé Fyere 8DA &%) Shidred ddokrd?
(1), &rrodoren (2) >cyegen (3) osSen (4) ad%rbw
114 The product formed when chloroethane is treated withl alcoholic KOH is
$6° S, wepFS & $6nods KOH & $csiodspd 6t e
(1) CHg 2 CHy (3) CH, (4) C3Hg |
- 115 . The compound with a molecular formula CH3CO0C,Hj; contains the folfowing functional group
(1) Acid (2) Alcohol (3) Ketone (4) Ester
CH3CO0C,Hy et pter 50A% smPen dok [Fhad s
(1) o Q) vepss (3) 858 @) o5
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Among the following, which’ is the reducing sugar ?
(1) Fructose {2) Glucose (3) Sucrose (4) Cellulose
& |Bod TS ganste B TByn O? '

(1) ggs @) wes 3

é&

G (4) Rengstd
Benedicts solution gives a precipitate with glucose. The precipitate is

(1) Cuprous oxide (2} Copper suiphate (3) Copper (4) Copper citrate
BEAE (ieud (rEED DBSOW DB KD e |
(1) &rgs® «BE - (2) =05 @g(ﬁ {3} o8 (4) =8 NBS

The compounds which contain zwiiter ion structure
(1) Amino compounds (2) Acids
(3) Amino acids (4) Ethers
B0l warlS domyedn o emipew

(1) B3 sogiwer (2} sipe (3) & eire (4), SetBen

Detergents
(1) React with Ca*? and Mg*? ions present in hard water ard form precipitates
(2) Do not form lather with hard water
(3) React with calcium and magnesium ions buf do 16t give precipitate but have cleanin,
action ' ‘
(4) Do not react with calcium and magnesium ions
g4 SoHe ;
(1) 58% woind® god w@oxs, BAyhato sarSos® $6g Tod Bed eFrd) arow.
>
(2) 883 moswd HHBAOD DEIESY.
3) sngo.ﬁo./i.tﬁ‘lﬁmi")_o a8 S wdd egdd) AESH T HIED ofwdy B
(4) 3?{’3@%\3.)3)53‘21050 varSo8 3o ey,

Mention the group that imparts colours to the Dye , :
(1) Auxochrome (2) Chromophore (3) Pyroxylin (4) Albumin
Soudine em doryeins® dohd SDACK HRrEAND NSoht?

(1) w&'y6'S (2) gareys (3) 2078385 (4) eoo)»l
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